Confirmation Bias

Time limit: 2.0s  Memory limit: 64M

| am sure you have all seen

CERTAINTY THAT THIS IS A
CLOCKWISE POLAR PLOT
NOT"A CARTESIAN ONE,
AS A FUNCTION OF TIME:

As it turns out, you can write programs that do the same!

Your challenge is to write a program that runs as both Perl and Ruby, and as Perl, it will print the string | This is a

Perl program. , while as Ruby, it will print [ This is a Ruby program.

Input Specification

There is no input.

Output Specification

When run as Perl:

This is a Perl program.

When run as Ruby:

This is a Ruby program.
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